Trigonometry - Provincial Review
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Answers: 

1. C
2. C
3. A
4. D
5. C
6. C
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In which of the following situations is there enough information given to calculate x?





image6.png
‘The brace is 2.75 m long and must be anchored 1.5 m from the base of the wall.
What angle does the brace make with the ground?
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). Which of the triangles below are similar?
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‘What is the length of the stringer of the staircase below?
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Which of the triangles below is a right triangle?
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Part of a quilting pattern is shown below.

‘What is the value of x in the diagram?
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